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SECTION A (40 marks)

Answer ALL questions in this section.

Ié List four Rctors that influence the consumptive use. (4 marks)
2. Outlme fm%r sources of flooding in farms. (4 marks)
T el
3 State four causes of back firing during oxy-acetylene gas welding. (4 marks)
(.‘| qrqﬂ Fr\?ﬁju!‘l"
4. List four types of rotary movers. (4 marks)
5. H1gh11ght four disadvantages of using animal power in a farm. (4 marks)
- 'Tﬁ ’k‘—l\fn \.,L:r-\\:ll{;:\ll)\ veersy v e -
& svnedl gyedidt © s\

6. Out%me four use\s of mm;(lar in the construction of buildings. (4 marks)
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T/ Sketch each of the followmg surveying equipment:

(a) foot plate; (2 marks)
(b)  cross staff. (2 marks)
8. Fx@am two sources of ground water. (4 marks)
112,.@(3\‘\ eles

9 Identlg four tvpes}of water erosion processes. (4 marks)
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10.  State four functions of a tractor transmission gear box. (4 marks)
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SECTION B (60 marks)

Answer any FOUR questions from this section.

i With the aid of a labelled diagram, explain the operation of a pick-up hay baler. (15 marks)

~42.  Using labelled diagrams, explain the operation of a 2-stroke cycle ignition engine. (15 marks)

&3 : a Highlight five disadvantages of live fences. S marks
’\.-{?l t}"\"‘"‘ ( ) g w{-rﬂ-ﬂ" e T g.-g e \*Y’?'». —ﬂ. = fwoiea e '\"j 3 ( )
S (b) DISCU&S the benefits of aff orestauon in agriculture. (10 marks)
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i \i “#4.  The following readmgs were taken in sequence along a centre line of an irrigation channel at

;:,l,)_/ e~ a constant interval of 15 m. The first reading was a backsight taken at chainage of . s
e 145 m of reduced level 98.085 m. The instrument was shifted after the fourth and ninth :
o i e i~ w\v,v b
;:f - readings: ps s B
e AR A 5 = » s to SO 5
e P 3.150, 2.245, 1.125, 0.860, 3.125, 2.760, 1.835, 1470, 1.965, 1.225, 2.390 and 3.035 m e
e TR v y""" g
iy o oo o e
{57 (a)  Book the readings using the collimation system. sl is] 7] Boelbe ].m__g ] "’};,'
e Cmspe L T S
foe P (b)  Compute the reduced levels. S i _f’.ﬁf?{; b e s i DR R
lEQ i Z 3 e <L) e e
: L - lT _Jf. e i S i
__f; (c) Check the entries. 9‘?_&;591_____'_1.;. — T
-~ _"; & ‘f,}e@' 8 , ¢ (15 marks)
Sl e |
i !:r*r
15.  With the aid of a labelled diagram, describe the stages gf t‘rﬁaﬁng surface wa{er foﬁa farm
estate. S D e by T e 1 = [ (15 marks)
a2 Sty el = ;’.z aqd, 55 ¥
.‘3“3{1‘_\*&““'““"\:» - Mg -».-.P\f = = l\“-‘ '. "" q0 t T
1. (a) nghl;ﬁhmt thf: beﬂeﬁts of farm d’?“}&f\? | ;» e o eecemmleeons (7 marks)
SEE LEY 3 = .Jnf-«cnn\-
= Comndpe) S\ pyosion v TH e 'x'r ; "”-:;%s e P e Y ~ ,.d"
(b) Usmg a labellccl diagram, explain drlp irrigation method. (8 nﬁagrks)
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